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(99) A= g aHeRA

T
AT - SMgBIcTl — Afg et
fOp ST el STl
qrof} SavATIT

q) 9IRS, HINT
=T gamed NPK o THIOT ..., ..., arfor ... 3R,
9) 0.¢0%, .30%, % ) 4.20%, 9.00%, 9.80%
3) 8.30%, 2.00%, 9.00% 8) 8.90%, 3.80%, 0.30%
The percent amount of NPK in Fish manure is ......, ...... and......
1) 7.80%, 2.30%, 2.22% 2)5.20%, 1.00%, 1.40%
3) 4.30%, 2.00%, 1.00% 4)4.10%, 3.90%, 0.30%

SrcfeaT SR A PR e Fafd ST Mg

q) wict R) sha 3) W 8) SRR
From the agricultural point of view which structure of soil is most desirable
1) Platy 2) Crumb 3) Columnar 4) Granular

IR 30T foRepics S eaciieaT UiNeh deaie TG @d Pl 3T ?

9) QORI R) iges @ 3) ITsfeTH ) 99 Gd
Which is a rich manure of major and minor plant nutrients ?
1) FYM 2) Vermicompost 3) Rhizobium 4) Biofertilizer

GTeAietidh! DIV GAMHED IS FaoUNT RIS 3RTd 2

q) giear Q) AfeTm TArIcE 3) MR dethe @) SMINTH ARKE
Which of the following fertilizers contains Nitrogen in amide form ?

1) Urea 2) Sodium Nitrate

3) Ammonium Sulphate 4) Ammonium Nitrate

TERT TSIl dheledl oA GAaiaR R, ... PTG TIhel ST,

9) TCH R) faumop amfoy wReftdt 3) &7 ) qRITIdN Prarar ATar
During recycling of waste disinfected water, there is removal of ......

1) Elements 2) Viruses and Parasites

3) Stones 4) None of the above

MP IY ATSUIUATT HaART T ARSI ... R ST e 8% .

9) 3NMILTDH UIYH ?) e g,

3) I STGehd 8) aieriel AT
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A continuous application of sewage waste over several years may result in enrichment of in the

............. top soil.

1) Essential nutrients 2) Heavy metals
3)Soil productivity 4) None of the above
SR AETSe USSR SRIAT

a. SO, BO,~ M, **
b. K* Mg**, Cut*
c. Ca*,Zn* NH}
d. H,PO;, HPO,

g IR :
9) Hh a Q) a 37T b wh 3) a, b 37T ¢ Hh ) a, b, c 3o d
Mobile nutrient ions in soil are

a. SO, BO,~, M, **
b. K* Mg* Cu*t
c. Ca*,Zn*, NH}
d. H,PO;, HPO,-

Answer Options :
1) a only 2)aand b only 3)a,band conly 4)a,b,candd

AT TR Tadst &l ... 378

q) AT QMY PUTT GeTEGe] PRUARING HERIT! THUT IxIT

Q) TIH Y SRV FCATSGe BRI DTl skiot

3) T QNS B ARV - Taacio] GRugTarg 3T JGeEca HRUIRN HeRd! SRSt
g) AT QY ABUTAT TGATaGe] PRI SR THUT SRS

Cation exchange capacity of soil is

1) The sum total of the exchangeable cations that a soil can adsorb

2) The sum total of the exchangeable cations that a soil can absorb

3) The sum total of the non-exchangeable and exchangeable cations that a soil can absorb
4) The sum total of exchangeable ions that a soil can absorb

.............. g i R g STt ATCH & ot AT gaelt o gietatel, gord AR, Aras,
9) UTeT T Q) Tt ard 3) AT T %) HIARTA

.............. 1s the physical condition in which soil is an optimally loose, friable and porous assemblage
of aggregates permitting free movement of water and air, easy cultivation, planting, unobstructed

germination and root growth.
1) Sail structure 2) Soil texture 3) Soil tilth 4) Tillage
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90) TCHEThT PO e IR HARET TGS TR 38 2
a) SRAfSUesd EFdaRT 3T Il AT depfcties R, Al Wadld Jdet! S,
b) & TR RIS T SR,
¢) R 3 AfeTe! R aTe] der S,
d) TR gedfiear 94 WHt R HTdhelel 3TR.

WW:
9) Beh (a), (b) 3T (¢) R) W (a), (b) 37T (d)
3) %eh (a) 30T (c) 8) Weh (b) 3T (c)

10) Which of the following statements are applicable to Bangalore method of composting ?
(a) Biodegradable solid waste and night soil is placed in alternate layers, in earthen trenches.
(b) It is primarily anaerobic in nature.
(c) The fill is turned regularly for 3 months.
(d) The fill is covered with 15 cm layer of earth.
Answer options:
1) Only (a), (b) and (c) 2) Only (a), (b) and (d)
3) Only (a) and (¢) 4) Only (b) and (c)

99) ARIRE JAcsHd! AFTS DIVAT TGN PBetl S ?

q) Emaug Q) oM 3) &g 8) e
11) By which organ does Cyperus rotundus propogate vegetatively ?
1) Runners 2) Suckers 3) Tubers 4) Offsets

9?) AN et fifist ‘B fBarA) a1 e sfiekget S

q) HHTeT VegfauerTa farfest R) wafa ST @it farferst
3) HPHU TR Q) SRl TR SfT grodTer féifersT
12) The horizon ‘E” or “A,’” in soil profile is known as :
1) Horizon of maximum eluviation 2) Top most mineral horizon
3) Transition layer 4) Horizon of maximum accumulation

q3) HCiaT i & ATcaT Jord OreH 37g BT
q) S TIR FROMT FHTeAT IMBRFAT HOTT A& THVTAR o SRae STt
R) TSt ATciiciieT U PR ATEAT HDIcIh TGl -l IGe], Ahe e,
3) UM MBR ERISACH g™ xaar A,
Q) et Fd
13) The texture of soil is a basic property of soil because :
1) itis decided by relative proportion of different size particles forming the soil.
2) the size of particles in mineral soils is not subject to change by simple cultural practices.

3) particle size can be decided by hydrometric method.
4) All of the above
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GTetlel Tcere feeR aT:
a) GSPId TR b) SFTET Ugd DENEIERIEIES] d) fororet @t
R TG Polcd] TCHUD! DIV TCh ARCTIC! RIS FhIcHIT FHIINER GRUTHT T ?

q) (b) 37T (c) ?) () 3T (b) 3) (c) &r (d) 8) el &
Consider the following factors :

(a) Nature of rock (b) Method of tunnelling

(c) Profile of tunnel (d) Depth of lift

Which of the factors stated above affect the quantity of explosives required for blasting ?
1) (b) and (¢) 2) (a) and (b) 3) (¢) and (d) 4) All of the above
IS a1 TRIAR IR Jerd aw 3TTe:

q) &R AISTIRIS! T TeTd AU,

Q) @ Na* ggcfel 3Mfor offer 5 Na+. HieaT.

3) ¢ ST Tlell 3Relel JRIRE &R PIgT I,
Q) et Fd

Basic principle of reclamation of Sodic soils 1is :

1) to have intermittent ponding for leaching of salts.
2) toreplace Na* by Catt and leach released Na+.

3) to remove excess salts below the root zone.
4) All of the above

AT fehaTeheTd T THTARETET Feietia UREeedT qivgl et ... FgUrdd,

9) SArSHROT Q) ATBACIHRUT 3) STFAEROT ) ST BN

The process of impoverishment of terrestrial ecosystems under impact of human activities is
called ......

1) Sodication 2) Desertification 3) Acidification 4) Land degradation

) e AFHIUNT AN P07 NI IR0, TR TSICGR AT AR DRON AN ey qRhige waren

17)

9¢)

18)

fOepTONt ST €101 AT SR TR

q) TR gd Q) AT gu 3) Ul g g) gl gu

The detachment of soil particles from parent material, their transportation by suitable agent and
deposition due to gravitational forces at some place is known as :

1) Accelerated erosion 2) Soil erosion 3) Water erosion 4) Wind erosion

U QhredT fomiven ST geHFTER AT AT ol dlcor fohal TRepul ITef ... UK.,

q) et Q) offic e 3) A RIH %) GSHRT FMes0r
Rolling or sliding of larger soil particles along the land surface moved by particles in saltation,
rather than action of wind force is called ......

1) Suspension 2) Sheet erosion 3) Splash erosion 4) Surface creep
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2) Schifds - shNsdiarst - Afed o
............. g M.B. 91 9138 g 1R, &freT A aoid SR IHAARTE 30° WarT B 9000 N EeoTRT
AR,
9) ¢&&N Q) 833N 3) 9000N g) 900N

............. 1s the side draft of M.B. plough having pull 1000 N with angle of pull as 30° with horizontal

plane as well as vertical plane.
1) 866N 2) 433N 3) 1000N 4) 100N

fIepTATST aToREdT SATUM=AT AT Gl gerid, 41 Sy ....... uc PHHT TRST 3.

9) 80-¢€0 ?) €0-¢0 3) ¢0-900 8) 900-930
Nanofertilizers are having .......... times less requirement as compared to chemical fertilizers
applied to crop.

1) 40-60 2) 60-80 3) 80-100 4) 100-120

RATCHE JUIETT e /TSR] FAMEH .......... I+t gt areE e,

9) e R) ATRIH 3) Ud T, T, ¢) HegaT &. 3.
Significant contribution of disease cycle of cereal rust in India was made by
1) Mundkur 2) Nagarajan 3) Payak M. M. 4) Mehta K. C.

fERthT g1 Breviiar Jafd geleh! UdhR 378

q) T R) B! 3) dordl 8) St
Skiffing is the lightest form of prunning in
1) Tea 2) Coffee 3) Cardamom 4) Cinnamon

e Negieggm’ memelt | 3 ?

9) ARI G

Q) meHTef urer 3Mfor HY U Hefe Ieurgre IUTeH

3) e FEoF Uqrfe SeuTe

) UfhdT Dheledl hes IUIeAd IUTGH

Whatis ‘Sweet Revolution’ related to ?

1) Production of sugar

2) Beekeeping and production of honey and related products

3) Production of sweet dairy products
4) Production of processed fruit products

.......... gl it I, e, A<, FRIUTS, JHIR0T SISt | Uofal FHIAe SRTetel Ueh JIfiery
S e 3R,

q) ot Q) fufcgmeer 3) Peitemrea 3) fafee—armaa

.......... 1s a very broad term encompassing all aspects of crop production, livestock, farming,

fisheries, forestry etc.
1) Agriculture 2) Silvipasture 3) Agronomy 4) Silvi-horticulture
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GTeA T DIUTC TIT 31T YAfeRvi amomRATdS! e 31feres @aciies weft sHarh amr oy ad 3med ?

9) FAO ) WMO 3) IPCC %) CGIAR

Which of the following institutes are now investigating how to make crops more resilient to
environmental stress ?
1) FAO 2) WMO 3)IPCC 4) CGIAR

......... 3T U AfgaTgdl QURad (fym) g PROTNATC! quiaul fiRfesel ST,
9) GR B Q) g 3) IR ofs uicar 8) ¥ |d
......... 1s thoroughly mixed for enrichment of farmyard manure (fym) before one month of

application.
1) Super Phosphate 2) Urea 3) Muriate of Potash 4) All the above

PH fI9eNUr WA Ui UND Tkl el IRIAT.

q) QY U&T FH! R) 30 ver P 3) 3Y Ua ot 8) g0 el pHl
The low analysis fertilizers contain per cent of primary nutrients.
1) less than 25 2) less than 30 3) less than 35 4) less than 40

AR FSSAI 7 SISRINIC! U STde e M ST dhel 37 e ATl 38 Fees (31 IuTe ATd

anfor @rer ugref) focfia gowlt M= 2033 ; a1 HeHld; TTetletidh! PIvrd fem /= gehrar 31mg/ 31med ?

a) yd ITORT IT BT HAT Tege,

b) SaR, SR, ATt SMIOT TSIRRT ARG Brel ITorrd 37l JReM 371 Aens fafFam 2099 7ed fafga
eledT 3MTRd.

¢) R 3 GORIGR FSSAIL 7 94 eI FroRisio! ¢ oI AIuGS (ST doledT AIFDIET U TE TR defl 37T,

d) ORI TRT THER A el STedl.

i SR :

9) a, ¢ Feh ) b, c,d Fh 3)d ®h ) a, d Fh

The FSSAI of India has specified a comprehensive group standard for millets Vide Food Safety

and Standard (Food Products Standards and food additives) Second Amendment Regulation 2023;

In this context; which of the following statement/s is/are incorrect ?

a) Earlier millets were not under purview of this act.

b) Only few millets like Jowar, Bajara, Ragi and Amaranthus are prescribed in the Food Safety and
Standard Regulation 2011.

¢) By 2"d amendment FSSAT has framed a group of standard for 15 types of millets specifying 8
quality parameters.

d) 2" amendment will be enforced with immediate effect.

Answer options :
1) a, conly 2) b, c,donly 3) d only 4) a,d only

T STIOT AT ITeRiel UieRT 19 HaRUiigR R et S,
9) 0.03% PR Fhe ) 0.20% ST FAS-0¢ 3) BFST 0.0%  8) % Fraplsg

White rust on radish and turnip are controlled by spraying......
1) 0.02% Copper Sulphate 2) 0.20% Dithane Z-78
3) 0.20% of Zineb 4) 2% Mancozeb
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$CR ST FARINIRT § Iaciied] YR PIUR] Teehred] PHORS fodqd A ?

9) RIS Q) Hicerd 3) IR Q) ST
Deficiency of which element causes inter veinal chlorosis in leaves of plant ?

1) Nitrogen 2) Calcium 3) Boron 4) Iron

TS §9Ts fohdT STaferdal € .o, T eyl afdre o,

9) TRSAT HabT Q) IS PR S 3) SIfGard detdhe S ) AagH! fdocd
Ribbing of leaflets or flaccidity is a typical character of ................ disease.

1) Root Wilt of Coconut 2) Black Spot of Rose

3) Oily Spot of Pomegranate 4) Vascular Wilts

UL el FepRetel! Tgd 3

9) MN ThIeRILANOr 3MfOT 9T kgl

Q) Stageryur iy Uelt faem wfhe lefee ava

3) SN SHddpral fAbRT gt JMfoT STaur ufehy ufee et
Q) et Fd

Accepted mode of action of herbicide is

1) MN inhibits the photosynthesis and respiration

2) Itinhibits the biosynthesis and cell division process

3) There will be abnarmal tissue development and inhibition of the germination process
4) All of the above

T STTERUT iU, TWRACH!, ATABRT IGeTvl fohaT 7 vl AT Hfshledl TTuft 37Ifor argres) feRuvag
SHfAUITE HfchadT FEUTCTa.

9) RIS IUTR Q) THRfhdIF 3) it ) g STUR

The process of breaking, scratching, mechanically altering or softening the seed coats to make
them permeable to water and gases is known as

1) Acid treatment 2) Scarification 3) Leaching 4) Hormonal treatment
3) O anfor HepRa el

T PR G AR6E & AR TG Shicid ST ......... It faepfad et B,

q) TheR A @ fo Q) ST TH.TH. e

3) Sl AT 8. IRl 8) TRaTe &R,

First hybrid rice was developed by.......... in 1976, the father of Hybrid Rice Revolution.

1) Professor Yuvan Long Ping 2) Dr. M.S. Swaminathan

3) Dr. Norman E. Borlaug 4) Barwale B.R.

GTefleTidh! PV g hegfSe 3T ST Phoora RIS Ffdem 3 ?

1) AAB ?) ABB 3) AAA ¥) AAAA
Which of the following is the genomic constitution of Dwarf Cavendish and Robusta Banana ?
1)AAB 2)ABB 3)AAA 4)AAAA
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'3ifSrepT’ BT 3T TR 3T

q) EUTA X ST IRIG Q) HUTEH X FeHIA!
3) UM X TR g) Fod x qoEd
‘Ambika’ a mango hybrid is a cross between

1) Amrapali x Janardhan Pasand 2) Amrapali x Alphanso
3) Amrapali X Vanraj 4) Neelum x Dashehari

Geilel STieaT Sfesa :

Rt LA A1
31) 9 gt 9) Panicum sumatrense
) Bict goRt Q) Setaria Scrfosen
%) g SNt 3) ufe frehiRrm
g) U SNt 8) JARRIT DRIBHT
qift S :

3 q D E)

H 1 2 3 4
2) 3 4 2 1
3) 4 1 2 3
4) 2 1 3 4
Match the following :

Millet Botanical Name
a) Finger millet 1) Panicum sumatrense
b) Little millet 2) Setaria italica
¢) Foxtail millet 3) Panicum miliaceum
d) Proso millet 4) Eleusine coracana

Answer options :

@ (b)) (¢ @
Hn 1 2 3 4

2) 3 4 2 1
3 4 1 2 3
4 2 1 3 4

9) 3D, Q) PIABIRT 3) 9107 9 ) Hrar
Konkan Haritparni is the variety of
1) Tannia 2) Colocasia 3) Arrow root 4) Cassava
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Tetlel Soall

dpRaord/gadls femAme

a) TAKPS-5 I) &

b) NIAW 3624 IT) Sart

c) PU-0609-43 I10) 58 T8

d) K-1812 IV) SSicd
V) &l H T

gt SN

@ (b (© @
) @) (v) (@) @(v)
2) ® v Gv) @G
3) i) (v Gv) @)
4) (@) () av) (1)

Match the following :

Variety/Hybrid Crop Name

a) TAKPS-5 I) Groundnut

b) NIAW 3624 IT) Sorghum

¢) PU-0609-43 I1I) Bread Wheat
d) K-1812 IV) Urdbean

V) Drum Wheat
Answer options:
@ (b () @
D Gy (v) (@) @)
2) ®» @ Gv) G
3) (@) (v) Gv) (D)
4) (1) (@G @Gv) (1)

Glelleidh! P AThlfcaiei Ui a7g 2

9) drewe SRISED 3) @i 8) geor
Which of the following is a monocotyledon crop ?
1) Beetroot 2) Spinach 3) Onion 4) Radish

EORT 20399 SATeT FTacia Wiefietidh! DUt T T ATerd /e ?

a) dTdetcdT duraTedT fRIIT 3894 fhall /3der SCUIGH &4l 3RAcil @ S IUTGH QUIR 3TTe.
b) & PFIfRT - Teras ToF-IgR fIhRid dhet ST,

¢) € ICAR — TARI 31for ICRISAT =1 HedhriH fAwmRid del 3Tz,

d) g Pifce 3N 31y T ST ATTISRITS! Aset ST,

iR S

) b a ) Bh b 3) c 37l d ®h 8) &h d
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Which of the following traits is/are not true in respect of chick pea 20211 variety ?
a) It is high yielding with yield potential of 3915 kg/ha under wilt stress condition.
b) Itis developed via genomics — assisted breeding.

¢) Itis developed by collaborative efforts [CAR — IARI and ICRISAT.

d) Itis released for cultivation in Karnataka and Andhra Pradesh State.

Answer options:

1) aonly 2) b only 3)cand d only 4)d only

P IS FSRSST PHRIATS! Fagefie Heft Srara ?

q) TR AN qA I Q) Her 3MfoT SRTGTON

3) 9T 7Ifr g 8) diges T T
Which plants are considered sensitive to chloride deficiency ?

1) Coconut and oil palm 2) Maize and groundnut
3) Legumes and cotton 4) Rice and sorghum

AT 2033 HEY 3fefidhsd STERIYd et BDN — 2093 — R (JU[T) Sire Qefietud! Piurd e
3R /el ?
a) FERTY, ORI, ALT UGeT, ISR 30T STURFTS IT ARG Il RIBRA dhetl S,

b) T Ui TP & 3R,

¢) T fadR Uy B,

d) g fdecer UftRig® 3 3nmfor TeRferdt Aviaarel i Re TR,

gt ST

9) a, b, c amftrd 2) b 3T ¢ Hh 3) a 37T d %h 8) Heh a

Which of the following is/are not feature/s of BDN — 2013 —2 (Renuka) variety of pigeonpea
recently notified in March 2023 ?

a) Itis recommended for State of Maharashtra, Gujarat, Madhya Pradesh, Rajasthan and Chattisgarh.
b) It has white colour seed.

c) Itis early maturing.

d) It is resistant to wilt and immune to sterility mosaic.

Answer options:

1)a,b,candd 2) b and c only 3)aand d only 4) a only

SFATfr R Feriva Algst woiRd DMH wedfd - a9;

a) SIS ATENATRIG ATTaeId UM SAfeSUraT el bl el 3TTe.

b) TN, SRECR IO R IT A Ao aTae- BRI dhet 31R.

¢) SiS IRFTor fSE=r I=on g faRid dhelel & ufeedl Jam 3R,

d) 01 ST Joria ARRRT ¢ % IT=T HrIeT qeffder g,

RIAUDT PO /AR e / 3med ?

9) a, b, c amfrd R) ¢ 37ftr d weh 3)b,camrdwh  8) b 3 d &
In context of genetically modified mustard hybrid DMH — 11;

a) herbicide tolerance trait has been claimed in the commercial cultivation of hybrid.

b) is developed by using three transgens i.e.barnase, barstar and bar.
c) is a first hybrid developed using the GE pollination control mechanism.
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d) has shown on average, a yield advantage of 28 % over variety varuna.
Which of the above is/are correct statement/s ?
1)a,b,candd 2)cand d only 3)b, cand d only 4)band d only

¥) ol eI

Teh ZaCR & < U SHfCHICR WIS dhegR HRUIRIC! JNa=RID IRICIeT UToarel THT0 R ......... fier
3R,

9) 90 ) 900 3) 9000 €) 90000

A volume of water necessary to cover an area of one hectare to a depth of one centimeter is equal

tocubic .......... metre.
1) 10 2) 100 3) 1000 4) 10000

fafdrer e groarRN TRST a7 faeeRT faemR e,

a) SaRt — 840-400 A b) 37 - 40-800 fHH

¢) | - Wo-9g0 At d) 997 - 400-600

RIAUDT PO Fem aRIGR 31 /MM ?

9) h a Q) Hth ¢ 3) a 37T b Fh ) a, b, c 3T d
Consider the statement about Water requirement of different crops.

a) Sorghum — 450-500 mm b) Gram — 250-400 mm

c¢) Pigeon pea — 70-140 mm d) Groundnut — 500-700 mm

Which of the statement/s given above is/are correct ?

1) a only 2) c only 3)aand b only 4)a,b,candd
TIQfeTdh ATTdHAT 3R

a) H IOl & SRRt YR SIfAH SR

b) SH! IO ST STl dIIehTH ST STRT

c) PH U ST 3RTeIAT WY ST HT

d) aTIHFRT AT PHHI IO ST SR 3R

TRICTUDRT DIV TG SRISR 3MTe / 37Ted 2

9) b a R) a 3T b Fh 3)a,bamfic Bk ) a,c 3O d Bk
Hydraulic conductivity is

a) Higher in heavy soils under low water potential

b) Higher in sandy soils under low water potential

c) Lower in heavy soils under low water potential

d) Lower in sandy soils under high water potential

Which of the statement/s given above is/are correct ?

1) a only 2)aandb only 3)a,band conly 4) a,c and d only

DI [T FHEI: FIciTelie UToamaT TR gegd 0T ?

q) TR fuds R) feew 3) e 8) T
Which diseases generally interfere the translocation of water in plants ?
1) Leaf spots 2) Wilts 3) Smuts 4) Rusts
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ST PrRI-AFeFE & 3T TToTeleTelt St areaTcer e FRuE Jliekgel ST:
9) ) Hypsometric curve 3) Isobath 8) Isocline

The relationship between horizontal cross-sectional areas and altitudes of the watershed is known as :
1) Contour 2) Hypsometric curve 3) Isobath 4) Isocline

§) TS SR TR FATgred] el 3Ty 3R fSeTg el 3fed

6)

V)

7)

8)

9)

90)

9) 9.0 m ) 9.4 T mfs 3) Y Tmfk 8) TRIAUDT AT
Grassed waterways are designed to suit the average flow velocity as
1)1.0m 2)1.5to 2 m/s 3) 2.5 mfk 4) None of the above

...... ¢ UIUTAIC &5 STTOT TETEre UehUT effsitel JONR 3Te.
9) SATEYUT THTOT R) TIRBIBR HHTOT 3) SIRM UK ) T T
...... is the ratio of total length of stream to the watershed area.
1) Elongation ratio 2) Circularity ratio 3) Relief ratio 4) Drainage density

q) UIUITR HICTeAT AR SaTI R0l gl

Q) o8 IS RIS dferd grara

3) U GRS WReldrE! are gk

) FRYTIT ATIATS! JMALIH SRetet! qd Wi qroand SdTa

A plant s killed by over watering because

1) Wate neutralizes the pH of the soil

2) The roots are deprived of oxygen

3) Water supports the growth of root parasites

4) Water does not have all the necessary mineral for plant growth

ST gere wiican fSemg-Icl Gielicid! HIvd e 98 37ed ?

a) TP STAR URHINIC! ThTuen ST JFC TG H_Ul e,

b) d FMCHAC Tl U CTRIa.

¢) BRI fS3eT SMaseh O ¥a—Faeal a7 FBE befl dTeor.

gt SR
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Which of the following points are valid for design of sewage treatment plants ?

(a) It is better to provide more than one unit for each treatment process.

(b) Preferably by-passes should be avoided for all units.

(c) Hydraulic design should ensure self-cleaning velocity wherever required.

Answer options :
1) Only (a) and (b) 2) Only (b) and (¢) 3) Only (a) and (c¢) 4) All of the above
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10) Which of the following is a disadvantage of mechanical floculators in case of water treatment ?
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-

1) Dead spaces in the corners 2) Less capacity of tank is required
3) Better floc formation 4) More flexible in operation
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